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(a + b)? = a? + b? + 2ab

(a — b)? = a? + b? — 2ab

(a — b)? = a® + b? — 2ab

s o dl=l

t gl dlaz 93 Egamo R0

gl oz 93 JolaS oy

(x+a)(x+b)=x*>+(a+b)x+ab

Dl ddam dw Egazo g3y0

(d+b+c)?>=a?+b?+c?+ 2ab + 2ac + 2bc
P gl dlez 93 Egammo uaSo a

(a + b)3 = a3+ b3 + 3a®b + 3ab?

: gl daz 93 Jolas eSe

(a — b)(a? + ab + b?) = a3 — b3
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 (pezib g Jub ) 2V g Glz a

(a 4+ b)(a® — ab + b?) = a® + b3
t (pezib g Jub ) 42V g Gl a

(a — b)3® = a3 — b3 — 3a2b + 3ab?

x3 4+ y3+2z3—3xyz

=(x4+y+2)(x%2+y%+ 2% —xy —x% —y?)

(o ol 505 @ygo

a®+ b3 = (a+b)®—3ab(a+b)

a3 — b3 = (a—b)3+3ab(a —b)

a’ + b? = (a+ b)? —2ab

a?+ b% = (a — b)% + 2ab n
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a3 — ab? = a(a? — b?)

@ LSLQ)QS_LLUJ‘.\ lJl.O
S Y3 pelain


https://classwich.ir/
https://classwich.ir/
https://classwich.ir/
https://classwich.ir/
https://classwich.ir/
https://classwich.ir/
https://classwich.ir/
https://classwich.ir/
https://classwich.ir/
https://classwich.ir/
https://classwich.ir/
https://classwich.ir/
https://classwich.ir/
https://classwich.ir/
https://classwich.ir/

R -1

35 325 |y Oylue o 3lodl 1 eslatiw] b 3gib ;0 BlEgl o8
:Wio
a(a? — b?) = a(a—b)(a+b)
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x*+4 = (x*+4x% +4) — 4x% = (x* + 2)%? — (2x)?
=% +2-20)(x%+2+2x)
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2x?>+5x—3=2x>—-x+4+6x—3
=x2x—-1)+32x—-1)=2x—1)(x+ 3)
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8x2+8x+2=2(04x%*+4x+1) =2(2x + 1)?
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3x 1 x+1 3x? 1

— — + -
x+1 x(x+1) x(x+1) x(x+1) x(x+1)
_x+1+3x*—-1 3x’+x 3x+1

x(x+1) _x(x+1)=x+1
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